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(b) Identify the professional anﬁgen-presenﬁng
cell from the following options .
(ii) Keratinocy ytes
(iif) Mast cells "
- © Which one of the following statements about
(i) Intracellular viral antigens are processed
. via an endogenous' pathway for loading

the processed antigens on MHC class | -

_to activate CD8-positive cells

" (ii) Extracellular pathogens are processed via

an exogenous pathway to activate CD4-
positive cells :

(iii) Exogenous antigen-presenting pathway
drugs

(iv) T-cells can recognize and are activageg
only when the processed antigenic
peptide is loaded on the appropiate

~ MHC molecules - Ppopn
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is inhibited by protein synthesis inhibjtor

d Opsonizatidn’ is one of the most important
effector functions of IgG for enhancing
which one of the following ?

() Phagocytosis  (if) Pinocytosis
(iii) Efferocytosis - (iv) Apoptosis

(¢) The initial complement component fhat. is
~bound by complement-fixing antibodies is

@ Ciq - (i) Cls
(iii) C3p - (iv)C5a

@ .Why most of the vaccination are done at
Infant stage 9

® Whic.h of the following gene clusters do not
contribute ¢, antigen binding ?

® v, (i) C,
(iii) VH C (iv) D
2. An_gwer Y five of the following questions :
. , 2x5=10
(@), Distinguigp 1o, cen T-Cell Receptor and
B-Cell Receptor, -
(b) ?th;gmsh between Type-] hypersensitivity

YPe-Il hypersensitivity-
(¢) Distingyjg}, between Epitope and Paratope.
19/63/2 (SEM-2) BIT 3¢, 3) [Turn over




~ (d) Distinguish between innate imnjyne response -

. via TLR4 -and TLR2. "

(e) Describe antigen-presenting cells of the
immune system. '. '

(ﬂ Dgséribe'immuée °¢u8_ thath attack viruses and

.- Write short notes on any six of the following :

- SR , S%6=30
(@) Ik”gﬁbein,dﬁﬁulaboutthe(ﬁﬂS(ﬂ?hnuﬁe,

and adaptive immun_e System, .

naive B-cells and memory B.gejjg
(<) Demonstrate briefly the angige

, te b p@e&ing
pathway for intracellular gng ‘extracellular
pathogens. ' |

@ ;’i’::ﬁ‘?md“?%.?;ﬁ'.‘““‘“‘ of activaﬁo;. of
(¢) Autigen-Antibody Interaction;

® Crat rejcion.

(g) Cell Mediated Immunity.

10/632 SEM-DBIT201 . (4) 80

- () Descrip,

f 19/ 63/2 (SEMQ) Bn‘ 201

4. Answer any 5y, of the 'fouo@g.qu&sﬁons:

. 10x2=20

(a) Wﬁté in detajl on the propem&s and
. biological functigns of classes and subclasses
of hllman ser; 'immunoglobulins. A 10 .

(b) What s immunoelectrophoresis ? Describe
the use of the technique for the Sepat. ation
°f°hal'ged biomolecules'Withlabded diagram.

, . 8+2=10

(©) What js 5 sendent Cell Mediated

Cyf°tOXicityn7b°dyDes]:g§:n the mechanism of
%600 of ADCC with o labelled d'agmm{o

Answer any ' wing questions : -
one of the follo 14x1=14
(@ Describe class switching of antibody with
. Suitable g;, What is the significance of
"HOdy diversity? 12+2=14 -
e f antigen
~ different types °© g
Presentation- with suitablé example. 14




